BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

1000 10*

100

rm761 2/(412085 —4878)=1.109

BIC 514706.81 ABIC 0.312 AIogP —0.0679
X* 451639.22 Ay? 0.312 AlogP —0.0679 ]

BIC

=
l
|
|
|
|
|
|
|
i
b

I ; ABIC —1067328 ]
: A —1067328
4878 ; 4878

60 iterations

2/(412085 —4878)=1.109

BIC 514706 81 ABIC 0. 312 AIogP —0.0679
E- - T XZ 451639.22 Ax 0.312 ‘AlogP "—0.0679

_,
3

~N
o
p—

Fe2 6% 100+398 km/s
rm761 BLR 9200 NLR 900 km/s

-------------------------------- s I = N

NLR

Fell

60 iterations

kdh1 13-0ct-2021 08:23



